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SUMMATIVE ASSESSMENT - | (2011)
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SCIENCE / fasm=
Class — X / &haT— X

Time allowed : 3 hours Maximum Marks : 80

iR &« 3 =we Iferma 37 : 80

General Instructions :

i). The question paper comprises of two sections, A and B. You are to attempt both the sections.

if). All questions are compulsory.

iii). ~ There is no overall choice. However, internal choice has been provided in all the five questions of
tive marks category. Only one option in such questions is to be attempted.

iv).  All questions to section A and all questions of section B are to be attempted separately.

V). Questions 1 to 4 in section A are one mark questions. These are to be answered in one word or
one sentence.

vi).  Questions 5 to 13 in section A are two marks questions. These are to be answered in about 30

words each.

vii).  Questions 14 to 22 in section A are three marks questions. These are to be answered in about 50
words each.

viii). Questions 23 to 25 in section A are five marks questions. These are to be answered in about 70
words each.

ix).  Questions 26 to 41 in section B are multiple choice questions based on practical skills. Each
question is a one mark question. You are to select one most appropriate response out of the four
provided to you.

= g
(i) 9 U UF DI QT WET, AT 1 IR 9RT g H gier AT § | SMUHT S 9T b U @ Sk o € |
(ii) ) g afard g |
(i)  WR U U W B T U e 8 U] Ua—uid 3l & uid gt § Aad g9+ g war g1 39 yeAr H§
3T Hael T Wl T BT S forad & forg g9 wahdt 2 |
(iv)  SII®T AR 3F 3R 9FT 9 & 94 UeAi & SRk JIH—9Id foras giir |
(v) AT 1 & U9 T 1 9 4 & U Uh—Udh 3fh & 2| 37 Ik U g 31qal U a1ad ¥ < |
(Vi) 91T &1 & e AT 5 9 13 B U QI-al 3Dl B & | $9b SN ITHT 30—30 &l H o B |
(Vi) 91T &1 & U AT 14 22 B YT - bl B & | g IR I 50—50 &l H oA B |
(viii) 9T 31 & UYH WA 23 W 25 B YT UIA-UTd ABT B & | 39D SR THT 70 &t H o T |

(ix) 9T 9 & U 6T 26 § 41 B U YANTHD DIl W IMRT Igfadwedl ued g | s Ue U 3 &l
21 Ry W IR feel § | MU dHad e FaH SUGad fdhed AT ¢ |

SECTION-A / @&-'31"

1.  Hydrogen being a highly inflammable gas and oxygen being a supporter of combustion, yet
water which is a compound made up of hydrogen and oxygen is used to extinguish fire.
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2.  Name metal which react with a very dilute HNO; to evolve hydrogen gas.

Tt T o1g 1 A fafan, S ag HNO, § stfafshan e srered 19 s 2 |

List two practical uses of biogas in rural areas.

Sta T o T & | S 9T suEn fafeu

4, In a circuit if two resistors of 5 () and 10 () are connected in series, compare the current
passing through the two resistors.

Ife 5 0 TE 10 O & <1 gfadereni wi Foft 78 & Tk afay § Sirer S g, @ 37 ufadeent § ae
STl ¥R i AT hITSIT |

5.  Write chemical equations that shows aluminium oxide reacts with acids as well as base.

Y Tt gHteR fafee st g goid & for Agfafam sifeaee sl qen afRenl <H1 9
srfufsren wear g1

6. A student dropped few pieces of marble in dilute HCI contained in a test tube. The
evolved gas was passed through lime water.

(i)  What change would be observed in lime water ?

(i) Write balanced chemical equation for the above change.

foreht fomnefl 7 o9 HCI faem 9§ W) wEredt § 7 & $9 ghe AR safstd 19 & =1
% I H TSR TR |

() = % e o afedd fea am?
(i) ST IRER W fau Sqfea Tt iR fafa |

When a solution of potassium iodide is added to a solution of lead nitrate in a test tube,
a reaction takes place.

(@) What type of reaction is this ?
(b) Write a balanced chemical equation to represent the above reaction.
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TEE e Tt g 2
(a) T8 AR =1 9 TRR B2
(b) SR ATkt o1 Hfard TmfTe st fafen)

8.  Define combination reaction. Give one example of a combination reaction which is also
exothermic.

e aIfyferan st aRvm fafew | T fordt 9aem sifafsan 1t Seree fafan s e
S o 8

9.  List four common features of the respiratory organs in aquatic and terrestrial animals ?

STt e TAAT S{iel <h TorE S o =R GH ATl ki Gl SR |

10.  Why is charcoal considered to be a better fuel than wood ?

ARl ! GorT B =RehIct <l 2Afidh =1 6 941 THd & ?

1. The element of an electric heater becomes red hot when the current is switched on while it is

not so for the current carrying wires in the circuit. Explain, why ?

YR YaTfed fRT S W foredt faea Ssaeh o1 g ol a8 &1 ST © STeifeh qiRael ot el 9arsish
AR H =g qre TEi fe@E <dl | R HHART, i 2

12.  Describe an activity to draw the magnetic field produced around a current carrying straight

conductor

HRETR! HY =TeTeh o =R AR a4~ JrIehld &5l ARG 3 & fag frdt foramenera 1 9oH
HIFTT |

13. A current of 5.0 A flows through a 12() resistor. What is the rate at which heat energy is
produced in the resistor ?

Teh 12 Q) o Tfa0ee § 5.0 A Tl 910 J&dt &1 Ffaiers | fhd W S Sl Scael il © 2

14.  You might have noted that when copper powder is heated in a china dish, the surface
of copper powder becomes coated with a black colour substance.
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(i) Whatis that black substance.

(iif) Worite the chemical equation of the reaction that takes place.

MY € H9ad: <@l 8 for Sa o119 = feur | iR & ISe ol T 3d & df hiW &
RS % I8 W HIA T 6 41l i W o7 St B

(i) I8 e WA F o S & 2
(i) I hIen g1 R R?

(iti) B arelt sTfafshen T TEmEfeE TR fafea)

15. What is Baking soda chemically called ? Give reaction involved in its preparation. Write
one of its uses.

WM 1 GIS] TR €9 H 1 Feddl & 2 $9H o9 | F areft stfufsran fafed | sae ww
39T fafau |

16.  (a) Whatisan alkali ? Give an example.

(b) Why do HCI, HNO; etc show acidic characters in aqueous solutions while

solutions of compounds like alcohol and glucose do not show acidic character.

(a) &R FAT? TR0 M

(b) HCL, HNO, 37 % Sefta faerad s7edtd 1o Fii SR € STelih Toshlaie], Te[ehrst S AifiTehi
& forerm erdta T = <@ § 2

17. What is the function of receptors in human body? What are the types of receptors

found in humans? What problems are likely to occur if receptors do not work
properly?

A IR H AR N HE R AEa § R YRR % R 9 S € 2 9fe It 3faa ven & @
T Q1 FRY THR T GEETT 30 B ST AT B § 7

18. (a) Explain how auxins help in bending of plant stem towards light.

(b) State the objective of the experiment for which experimental set up is shown in the given
diagram.

(a) U % T DT TR H AR G B A R YR T R 2
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19. Name the main constituent of Biogas and its percentage in the fuel. Write only four
advantages of using biogas.

ST (RN ) % Y= 31999 Wl AW SR gHh! TR yidqerdar fafed | s9eh SuEn 9 g A
HE IR a1 fafed |

20. Draw a diagram to show a parallel combination of three resistors. Find the number of 176 ()
resistor connected in parallel to make a combination required to carry 5 A current from a
source of 220 V.

T wfalerehi o Ied Hae @ Wb o fou o wifeul 176 O % =R gfaiee! S 9w qen
AT hifore f5r= urvd H HefSia e IR o WA i At 220 V B0 9 SIS 1 5 A HRT JaTed = |

21.  Study the V-I graph for four conductors A,B,C and D having resistance Ra, Rs, Rcand Rp
respectively, and answer the following questions :

A D
G

I B
T A

Oof —vV

A\ 4

(i)  Which one of these is a best conductor ?
(ii) If all the conductors are of same length and same material, which is the thickest ?
(iif) If all the conductors are of same thickness and of same material which is the longest ?
(iv) If the dimensions of all the conductors are identical, but their materials are different
which one would you use as
(a) resistance wire (b) connecting wire

(v)  Which one of the following relations is true for these conductors

(a) Ra >Rg>Rc>Rp (b) Ra <Rg<Rc<Rp
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(vi) If conductors A and B are connected in series and V-1 graph is plotted for the
combination, its slope would be

(@) Less than that of A (b) more than that of A
(c) between A and B (d) Stat

(vii) If conductors C and D are connected in parallel and V-I graph is plotted for the
combination, its slope would be

(@) Lesser than that of A (b) More than that of D
(c) Between Cand D (d) Between B and C

IR IR A, B, C a2 D fS=ent 9faliel shAel: Ry, Rs, Re AT Rp €, o V-1 UTH T 3T&4IT HIfST
g f7=1 weAl & s fafeu |

A D
G

B

I
T A
O

A
>

_*V

(i) TTH O HTE G A AT 7 2

(ii) I T =TT THE T a9 Th & e 9 51 © <, fohd =TT bt AR wad Aty © 7
(

(

iii) e Ta =TeTeh THM AR a1 T & 951 § 51 € q, ford =mereh st o we Sk 77
iv) afE g =Tershi o 3TET Tk U € wig o T el @ 99 € o o1 feReeRt s i,
BYH :
(a) fE AR (b)  HASH R

(v) 39 =l & fae i faw e § | s dey w98 @2

() Ra>Rs>Rc>Rop (b)  Ra <Rp<Rc<Rp
(©) Ra =Rs=Rc=Rp (d)  Ra=Rp<Rc<Rp
(vi) If< =retenl A 91 B I 40l A | Haifsd foran St qen SisH s fag v-1 s fregor foman
ST 1 T B
(@) A¥®A (b)  AH HAfuw
(c) ATANBHEH (d) D9 sfw

(vii) If TRl C T4 D 1 9RE H FAISA fRAT S qe1 IS o faw V-1 36 s feman
ST, 1 g B
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(c) CAAMDH = (d BAACH =

22. (a) Draw the magnetic field lines of the field produced by a current carrying circular loop.
Explain with reason whether the field will be stronger at a point at the center of loop or
near the circumference of loop.

(b)  Write two properties of magnetic field lines.

() T YNGR JUHR R % =GR 3R kg &5 @ Sited | wRon gfed aveed i
TrIeh1d &5 38k hs W 3T g o aRfy o ur forelt fag w2

(b) IR &3 @3l <k <1 TUiEH farEu |

23. (@) Explain with an example how the metal X which is low in reactivity series and metal Y
which is high in the reactivity series are obtained from their compounds by reduction
process.

(b) Write the electronic configurations of sodium and chlorine. Show the formation of
sodium chloride from sodium and chlorine by the transfer of electrons.

(c) List any two observations when a highly reactive metal is dropped in water.

(@) o1g X S "iskaar goft § Fi9 & 9o o1g Y S0 GfRaar goft § S € 1 e1=ad ufeRAn gr
TTok AIMTeh] 9 Thd WehR UT fohd ST & SETELl Higd sAmedl Shitsiy |

(b) wifeaw qu FIH & oM fa=w fafew) wifesw 9 A & 997 9 soRH
TR G HIfSaH FAREE ST Gy |

() & H ercafusw sfufsrameiia urg il iR W fore ST Al fo=dt <1 aroll o6t <= sEu |

OR

(@) The reaction of metal X with ferric oxide is highly exothermic. Metal X is obtained
from its oxides by electrolytic reduction. Identify X and write its reaction with ferric
oxide.

(b)  Give reason to justify that aluminium oxide is an amphoteric oxide.
Also give another example of amphoteric oxide.

()  Mention constituent metals present in bronze.

(@) g X iR itk fiaumee & = TamEte sifafman srafis S ST St €1 o1g X &
ST sifaree § foegaeTaee- sTu=mm g1 Ui foval ST €1 X <l Te=T qe Sqeh! %l

Alorse T rfafswman fafay |

oo~

(b) ‘‘ugfhfrm sfwmee tw vy siwmse &' Tt gfie & fau wru dfsw) feeht o=
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() SIS H SUMeed el ¥Ig3il 1 Seet@ wHifse |

24. (A) Draw a sectional view of the human heart and label on it the following parts :
(i) Aorta (i) Pulmonary arteries
(iif) Vena cava from upper body (iv) Left ventricle

(B) Why is double circulation of blood necessary in human beings ?

(A) TS g 1 kIS g9 GIfaQ 991 36 W = 9rli 6l FHifrd Sifs
(i) werert (i) GERE R
(iti) IR 3 SO W & HRIRR (iv) == fe™

(B) T H <l T YNGR Ak i ¢ ?

OR
(i) Leaves of a healthy potted plant were coated with vaseline to block the stomata. Will
this plant remain healthy for long ? State three reasons for your answer.

(ii) State any two differences between autotrophic nutrition and hetrotrophic nutrition.

() W H o fRe wry dg w ufedl | W A 9= w & fau 31 W Sue @
99 fopan AT 1 AT 9% UGy SR WY a9k Wy W2 39 S o foTt diF st fafau |

(i) TS o7 e frmrde W § g &1 TR fafey |

25. (i) Two circular coils P and Q are kept close to each other, of which coil P carries a current.
If coil P is moved towards Q, will some current be induced in coil Q ? Give reason for
your answer and name the phenomenon involved.

(i) What happens if coil P is moved away from Q ?

(iif) State any two methods of inducing current in a coil.

(i) T IAHR IS P T Q Teh T % Fihe T &, o7 & Foeeh P H &N yafed &1 W@ 7
Ifg Fueet P I Q i AR T AT 1 1 Fueett Q H g & URA it 7 377 S & faig
FROT ST T 3uH ginfaa afeer &1 am fafew

(ii) 9 B Afe FHueelt PRI Q ¥ g A SR ST ?
(iti) & YR T A1 fohel <1 ferferdi =1 Seer@ ifse |

OR
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with a moving magnet. State the rule used to find the direction of electric current thus
generated in the coil.

(i) Two circular coils P and Q are kept close to each other, of which coil P carries a current.
What will you observe in Q ?

(@) If current in the coil P is changed ?

(b) If both the coils are moved in the same direction with the same speed ? Give
reason.

() T fshamrad sk TR | fordt wfaeiial gwareh gr1 forel Foedl! | forpa a1 9Ra w1 &t
fafy =t =amen wifw | Foed ¥ URT 9 &t fown 9 & H ITE0 BF 91 W 1 3ecrE
HIfSTT |

(i) < JUARR FUSierai P &1 Q Th T & Fehe W T, 1 Fueeh P H o)1 yanfed & Wi 2|
Y ST H&ToT i -

(a) AfC FHued P H &R gRafid 31 = ?
(b) AE AT Freeh TH & oo § IuH =1 | G FE? FH IN F AT FRO

M
SECTION -B/ G&-'d'

26. Bottle A contains a dilute solution of vinegar and bottle B contains sodium carbonate
solution. The colour seen in pH paper dipped in A and B respectively are :

(@) Orange, blue (b)  Green, blue

(c) Blue, orange (d) Orange, green
arad A B faes 1 97 faerem qun daa B # difeam w@ie foea s R A 991 B H pH W &I
TIM W 9 W fe@mt <7 o 30 8§ A

(a) Had, en (b) &Y, el

(c) iem, Ead (d) ¥, 71

27. A student took the following samples to find out their pH using pH paper. The teacher
remarked that one of the samples taken was not proper. The teacher was referring to :

(@) Dilute hydrochloric acid (b) Lemon Juice
() Washing soda (d) Soap solution
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(a) ] RSN 3T (b) TFgF W™

(c) HmEd Hrer (d) WA A

28 Four drops of red litmus solutions were added to each one of the following substances.

Which one turns red litmus solution blue.
(@) Alcohol
(b) Distilled water
(c)  Sodium hydroxide solution
(d) Hydrochloric acid
e ferend st SR-9R 9t = fSu U g uered # faemht T | 5T S o faend s e o
< ?
(2) TR (b) ST S
(c) difcad TEgldEe faeeA ()  SESeiRe o

29. To show that iron is more reactive than copper, the correct procedure is to :
(@) prepare ferrous sulphate solution and dip copper strip in it.
(b) prepare copper sulphate solution and dip iron strip in it.
(c) add dil. nitric-acid on both strips.

(d) heat iron and copper strips both.

78 fe@m o fou fom o qist 9 sifuen frameiia ©, adt fafa @ .

(a) E TThe T SR IHH T S Il ST S |
(b) HIR HHe T HIE AR ITH Tlg ! Il ST < |

() < wrgstl ot il W T efew st et |
(d) dig AR disl T afaal sl T Wy T R

30. Iron filings were added to a solution of copper sulphate. After 10 minutes, it was observed
that the blue colour of the solution has changed and a layer has deposited on iron filings.
Which one of the following set of colours correspond to the colour of the solution and the
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(@) Yellow and green.

(b) Brown and blue.

(c)  Red and greenish blue.

(d) Light green and reddish brown.

FHIR Tethe T § @i Y9 e w6t 1 10 fee & uv=nd a8 9eror foman T T foeas =
{1 gfiafda 2 e § 99 e W W Uk 9 oW T ¥ feEfafea § 9@ @ @ we-an
= AT foerem % 1 991 WA o 37 F aeqed § 2

(a) dieT qen B0 (b) T AT el

(c) e a9 BRa e (d) BRI B qAT TRIY U

31.  An ammeter has a range of (0-3) amperes and there are 30 divisions on its scale. What is its
least count ?

@ 10A (b) 0.001 A © 01A (d) 0.01A

Teh THIET &1 IR 0-3 A § 2TR SHehT Thet 30 W § faenfsra §1 91 Acqadiss 1§ ?

@ 1.0A (b)  0.001 A © O0l1A (d) 001A

32. A voltmeter has a least count of 0.05 volt. While doing Ohm'’s law experiment, a student

observed that the pointer of the voltmeter coincides with 15th division, the observed reading
is :

(@) 0.75V (b) 0.075V () 7.5V (d) 75V

T dlceHIet i STeqqq i 0.05 V &1 31 & 90 % 7 § us o <@l ¢ o Seediel o1 48
15 S 9T TR Gehd A T, 1 AeeHie FH ISHiH ¢ :

@ 075V (b) 0075V € 75V (d) 75V

33. The correct set up for studying the dependence of the current on the potential difference
across a resistor is :
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Hi [ )
A) (B)
+®—
+®— +®_
1%,
‘/wl\z/vv LA ead
R
+
®
) —l [ ——
(© (D)
(@ A (b) B (¢ C (d D
fret wfaiaes o T <= faveiR | o/ &t a1 eteaaa 0 & fod =1 ° 9 e
STTE] Hel § ?
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+ N\
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+ !
=

Hi[H )
(A) (B)
+®—
+® +®_
N4
Nvl\z/vv VMV
R
+
@
1 IlE— 1 1=
© (D)
(@) A (b) B © C (d D

34. Two students are using the circuits shown here. They are doing the experiment to find the
equivalent resistance of a :

+®—
R, R,
ANANANAN A%
+/V\—
. R, L X
@A L @
+ + 2
+||||_ () +||||_ ()
| | \°*/ | [ \*%/
) (In)

(a) series combination and a parallel combination respectively of the two given
resistors.

(b) parallel combination and a series combination respectively of the two given
resistors.

(c) series combination of the two given resistors in both the cases.
(d) parallel combination of the two given resistors in both the cases.

< B T8 53 T ufide w1 WA W R E 1S 7o iy 9 el e W@ E
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R, R,
NA NN VAN
+/V\—
- R, = L/
® L @
+ + 2
+||||_ () +||||_ ()
| I \"/ | ! N/
@ (I

(@)  feu e wfeent & s Soft we ured HaeE % fa
(b) U SRR % wue: wed e Aof e & f
(c) I feafaai 9ol 67 H <1 fe3 BT Hfciershl o IS & ferw
(d) e Rerfi & fd T S wRe & wed 9 % e % fa

35.  The following instruments are available in a laboratory :
Milliammeter A, : range 0-300 mA and least count 10 mA
Milliammeter A, : range 0-200 mA and least count 20 mA
Voltmeter V, : range 0-5 V and least count 0.2 V

Voltmeter V, : range 0-3 V and least count 0.3 V

Out of the above instruments, which pair of milliammeter and voltmeter would be the
best choice to determine the equivalent resistance of two resistors connected in series ?

(@) Milliammeter A; and Voltmeter V,

(b) Milliammeter A, and Voltmeter V,

(c) Milliammeter A; and Voltmeter V,

(d) Milliammeter A, and Voltmeter V,
fereht v # frfafad SweRtor Suere ® -
HEATEHTET A @ TRER 0-300 mA FeqaHich 10 mA
el A, : TRER0-200 mA SETqHIH 20 mA

AleeHIe V, : TE 0-5 V STeqaH i 0.2 V
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Iuded YLl A H fHefUier dur dSieeHie 1 hiAdl Sirel o Wfadieshi & o dasH &
T Ifade 9 6 o foe gatom @ ?

() fHefitdier A, qeor dieedieT v,
(b) THeiTUHET A, q dleeHiet v,
(c) THeiitHiet A, qe dieeHiet v,
(d) foefitdie A, qen dieeHie v,

36. In an experiment on photosynthesis, students were instructed to cover a portion of a leaf of a
de-starched potted plant with an opaque paper strip. Varun used a green paper strip, Vijay
used white paper strip and Anshul used black paper strip. After four hours, there will be no
starch formation in the covered position in -

(@) Varun’s experiment. (b)  Vijay’s experiment
(c)  Anshul’s experiment (d) All the three experiments

TR TICTHYT < TN § SEI ol I8 a9 foa 7 fof 9 et o W Ued e &t fondlt u o=t i
STURERT HITST ot U5l ¥ A3k ®9 W Bh | 3Hoh {oTT 9201 3 &L WIS i Ug, fowm 7 The rTs
I Tl TAT 3L 7 el HETS i Gg! hl ITART fohdT | THRIHT IR HUS ok qe=d fohdeh TR H gh

T T H == T8l o ?
(a) F®U S YA (b) TS/ < v
O SER R (d) % gEm

37. Itis essential to boil the de-starched leaf in alcohol using a water bath because
(@) alcohol is highly volatile
(b) alcohol is inflammable
(c) steam from the water bath helps in dissolving chlorophyll.

(d) steam from the water bath helps in softening the leaf.

TEfEd Tt skl STel %7k g Uoehigldd H Seleil ATEvde Bidl & SHifh :

(@) UchIglcl STfeh oSt € |

(b) TTHIEA SAATNA T |
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(d) T % Y Fehelt 9T Uit R R SR |

38. In the following sketch of the stomatal apparatus the parts I, I, I1I, IV were labelled
differently by four student :

(L))
(1D
{av)

The correct labelling out of the following is :
(@) (I) gaurd cell, (I) stoma, (III) starch granule, (IV) nucleus
(b)  (I) cytoplasm, (II) nucleus, (IIT) stoma,  (IV) chloroplast
(c) (I) guard cell, (II) starch granule, (III) nucleus, (IV) stoma
(d) () cytoplasm, (II) chloroplast, (III) stoma, (IV) nucleus

T T9Iie U ¥y & AN W IR 9N 10, 11 T 1V 1 =R 3761 1 fer-fae amisT fean

(] .‘.'| (n

1)

’O L )

»o)(e (v)
frefafad o i 91 i 98l 82

(@) (1) 3R hIfem, (1) T, (111) == &, (1V) FEh
(b) (1) IfTRI 5=, (II) hseh, (II1) ¥4, (IV) AR
(©) (1) BR FIf¥rERI, (II) WE &Y, (I1I) F5ah, (IV) 9
(d) (1) IfeTERT €=, (1) FARIER, (I11) 39, (IV) Fseh

39.  The stain used in the preparation of temporary mount of a leaf peel to observe stomata is :
(@) safranin (b) methylene blue
(c) glycerin (d) iodine solution

it o Toerer | @i o1 9aor e o fol STeemell STRIY0 GorR s § ST 8 arell SRS © ¢
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(c) Treredm (d)  STEN faeEA
40 Four sets of three precautions to be taken while setting up the experiment to show that CO, is
evolved during respiration are given below. Find the correct set of precautions.
(@) Airtight setup, delivery tube dips in water in beaker, germinating seeds in flask
(b) Thread holding KOH pellets, airtight flask, delivery tube just above the water level in
the beaker
(c) Germinated seeds completely under the water in the flask, experimental setup not
airtight, delivery tube above water level.
(d) Delivery tube touching the bottom of the beaker, KOH pellets kept along with
germinating seeds at the bottom of the flask, seeds should not germinate.
- wEetE & =R wq==d, 59 vaed % @5 CO, freherd "' s =i aui & fag
TENTTeh SAeel shid o el i aidl 8, 9 fou T €1 57 waenfat o we aeaa sifen -
(a) ST AES, R Tl ST o Sl H Soll, FARSh H ST oIl
(b) KOH Tl sl SR § TehI, Tk d1a%s, (R Teil sieht o 5T 9 F8 FI
() 3N ofisl FoTreeh | <1t § QX gl gU, W okl dgeg el, e Tefl Siel & da 9
U
(d) Tehr Tefl sifrt i dell sl B9 HLd §Y, KOH ! Tl Telleh i deil § iHRa sfisi
o 1 W GE, SISl Bl SHI0T &I 2T =6l |
41.

The following experiment was set up to show that a gas is given out during respiration.
There was rise in the level of water in the tube. This is because.

R ks

Germinating seeds Water
(i)  Oxygen of air in the flask will be taken up by germinating seeds

(ii) CO, given out by the germinating seeds is absorbed by the KOH
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(iv) Moisture in the germinating seeds will reach the water in the beaker through the
delivery tube.

The correct reason for water to rise in the tube is :

(a) () (b) (i) (c) (i) (d) ()

" e o W CO, feherdt 81 38 aui o fog frefafad g it sgereen & Wit ol §

el T T SR IS TN THRT FROT 98  foh -

(i) AR i O ht SARiTsH SpRa st o &d |
(i) sfepRa =Sl grr fetett T CO, I KOH STarmfyd s il |

(iii)y FTRE CO, = it Teft § ST Feft H STt 31 39X 1 31 Fherd! 8 |
(iv) SAHfd sfisil st T f1epr et ¥ Bt i & ol | g ¢
Tt H 911 &% 9 & HU IS BT T HRUT -

(a) () (b) (i) (©) (i) (d)  (@v)
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